HADFERICOVTCRAL AP HNIL . BRTEE
FFHHETHEHVEDhELE,

Please contact with your nearest HAKKO
representative if your have any inquiry.

ANy =TI ABE Ry FXRE—EMERLTHY
A,

YHAKIO

4 7962615°004186

HAKO 611 &2

BAEY-ILE

HBERALE 1kg FTWOFFTEE RIS BAENE

| $1A4 T #AE
ORID LA, FHAILTTLIEELY,
@k T E R, MEFG.

@Please assemble the stand as shown in figure.

Assembly

| 3= 4#%E Exploded drawing

BN+t R Y 4! S —— B
https://www.hakko.com PB PET Hi@‘ﬁﬁfgb M4x5(4)
7556-0024 ARARERIEH2T B4EES (dp) N KAETRIRSET
TEL: (06) 6561-1574 (f£) FAX: (06) 6568-0821 M4x5(1) -
ﬁ 'f? (@] B % HETyS M4x5(4)
~’ ™ FF4(1) Pan head screw
YHAKO Lo =] = b it i
HAKKO CORPORATION R
HEAD OFFICE m Hi I\I [l WAET
4-5, Shiokusa 2-chome, Naniwa-ku, Osaka 556-0024 JAPAN - N
TEL: +81.6.6561.3225 FAX. 181-6.6561-8466 e 'E 1& KIEEARET
https://www.hakko.com E-mail: sales@hakko.com m \‘ M4Xx5(1)
OVERSEAS AFFILIATES T h A4 B S A
U.S.A.: AMERICAN HAKKO PRODUCTS, INC. m ﬁ S N
TEL: (661) 294-0090 FAX: (661) 294-0096 Z /AFE}J—\IT,"ZI ( 1)
Toll Free (800) 88-HAKKO m
hitps://www. HakkoUSAcom E-mail: Support@HakkoUSA.com ‘e % A
HONG KONG: HAKKO DEVELOPMENT CO., LTD. Ground wire set
TEL: .2311-5553 :Ax :59’?-02;’/“ " .. m % I screw
SINGAPORE: HAKKO PRODUCTS PTE., LTD. q x‘ Pan head screw
TEL: 6748’2577 FAX: 6744-0033 $ | M4X5 (1 )
tps:. sg  E-mail: com.sg
> 7 l: External tooth
Please access the web address below for other distributors. Z “J lock washer
https://www.hakko.com O nominal size4(1) _|
o o Gﬂ O, BALERIFI TR, 7
© 2000-2020 HAKKO Corporation. All Rights Reserved. 20208 u 10 @ Please install the solder as shown in figure.
MADE IN CHINA MAO01944XZ200807
| BEX | X [ English | | B&X | & X | English]| | BAX | & X | English |
L | X | | Feature |

@A EAL—XITBIRHT EN TEAFED
FHENET,

@ 1kgE TDIIAFZERMTFBEN TEET,

@B

@R rI LR AL, DAEMERESE,
@ ] LU E—O8 T L N RR B
L _ZEN TR

@You can smoothly draw out the solder
wire.

@Solder reels of 1kg(2.21b) weight or less
can be installed.

@ESD safe by design.

X | EX | | Specifications |
S 611-1 W SR 611-1 No. 611-1

& 87 (W) X78 (H) X141 (D) mm R 87 (&) X78 (&) X141 (R) &X Size 87(W) x 78(H) x 141(D)mm

P #15mm RS FI5ER [3.4(W) x 3.1(H) x 5.6(D) in.]

= B 4509 = = 4505 Shaft Dia. | ¢15mm (0.6 in.)

Weight 4509 (1.0 Ib)




